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g = =gt 571 \LECTURE BOOK

(V) 1712 =8

LECTURE 01~03

01(1)x (200 (3)x 011(1)Ha=d (2) 2
02(1)AB (20242 CD  02-1(1)8 (2)12
03()PQ (2)PQ (3)PQ (4)QP

031()MN (2)MN (3)MN (4)NM

04(1)= (2)+ B)l= 041(1)= (2= (3)=
05(1)5cm (2)4cm (3)2cm

05-1(1)12cm (2)8cm (3)9cm

06()5 (25 061(1)3 (22 (3)5 @2
TFN aia 93 ofs)) ® 11-12=
01@ 011 14 0223 021@®
03(1)3 (2)6 (3)3 03114 04® 041 @ @
0518cm 0518cm 0612cm  0615cm

LECTURE Od,..,Oé OO 0 13~15=

01(1) 2AOB, #BOC, 2COD, #DOE (2) 2AOC, ~COE
(3) ~AOD, 2BOD, #BOE (4) 2AOE

011 (1) (), (), 0 (2)00, (), () (3)(=) (4)(0)

02 (1) (2)

il @

02-1(1) z.DOE (2} 2.FOA (3) 2COE
03 (1) zx=65°, 2y=115° (2) £2x=30°, £y=85"
03-1(1) 2zx=130°, 2y=50" (2) 2x=30°, 2y=150°

04 (1), (2)[ T, ]2 (3)3,1,2

041(1)d C (2)PC 04-2(1)AB (20 B (3)5cm

W saesos ® 16-17%
01 2x=55°, 2y=35" 011D (1716)] 021 100°
(1:16) 03160° 04® 04120 05@
0516% 060 061 @

2 S

3, 39 oee
01@ 02 @ 03 @ 043 05 @
06 ® 07 @ 08 @ 09 @ 100
113 1203 136 143, @ 150

M 18-21=

16 3 17 26 18 22 1915cm 20 64°
21 27 22 100° 2395° 24 %cm
- SEL ® 22-23%
oix 6 FH1T 20 HH2 6 cm FH2 10 cm
M3 75° M3 60° o4 85 214 5
olx] T
(V) 2 ¢4z 24
LECTURE 07,...]0 ........................................................................... 0 24-.27=

MNAEC,HE 28 A AB 4D
0111()HB, HC,AD (2% A HE
02 (1) AB, ¥ DC (2)¥1 AB
02-1(1) ¥ AB, ¥ DC (2)¥ AB, ¥ AD (3)¥ BC
03 (1) Hayatch,  (2) 3t el whdel, (3) 229l 91l Sict
03-1(1) AB, AD, BC, CF (2)AD, CF
(3) AB, BC, BE
03-2(1)BD (2)AB
04 (1) ¥ ABFE, " DCGH (2) ¥ ABCD, ¥l ABFE
(3)%l ABFE, ¥ EFGH (4)* ABCD, ¥l EFGH
04-1(1) AE, BF, CG, DH (2)EF, FG, GH, HE
(3)EF, FG, GH, HE (4) AE, BF, CG, DH
05 (1) & ABFE, ¥l BFGC, 'l CGHD, ¥ AEHD
(2) ¥ EFGH
(3) ™ ABCD, | ABFE, ¥ EFGH, ¥ CGHD
(4) DH
(5) ™ BFGC, ¥ EFGH
05-1(1)4 (2)1 (3)3
05-2 (), (), ()



b 2 EE DI
010 011 ()ED (2)4 02@ 021 @
03® 0312 ® 4® 0418

05(1)9cm (2)8cm 051 @ 062 061 2

LECTURE 17~ | ® 30-31%
01(1) ze (2) zc (3) ze (4)zd

01-1(1) 26 (2) 2d (3) 2k (4) ¢

02(1)70° (2)110° 02-1(1)55° (2)55° (3)85° (4)95°
03(1)55° (2)55° (3)125° (4)55°

03-1(1) £2=100", £y=100" (2) Lz=45°, £y=135"
04(1)O (2) x 04-1 (v

TN sliA193 ols7) ® 32-33%
01® 011 ® 023 021® 03®

03130 040 041®  0580° 05-1 38"
0606 061
3, 35 oma ® 34-37=

01 @ 023, ® 03® 04 @ 05 @
06 @ 07 ® 08 ® 09 ® 100

113 12@ 1306 143 15 @, @
16 AH, BC.CD.GH 177 189 191
20 4% 21175° 22 225°
23 (1) £0] 202 (2)60°24 2

- SR ® 38-39%
i1 EF 2x1 AE o 8 M2 0
oixI3 30° 233 60° ofmd 22° x4 18°
(V) 3 ==t ais

LECTURE ]3,\,] R —————— G 40-41 =

010), ® 011(1)O (2) x (3)x
02 #wix, AB 021 AB, 342

39—-0—-0—-0—@
031(1)O (2)
M- —-0—-60—-0—O

04-1(1) x (2)O

S aey ol
01@.@ 010, ® 020 0213 03®@
031®

LECTURE 15~16 ™ 43-44=
01(1)BC, «C (2)AC, zA (3)AB, «B

01-1(1)12cm  (2)90°

02(1)0 (2)x 021(1)O (2) x

03(1)0 (200 (3)x 4O

03-1(1)O (2)x (3O () x (50

N ey osi ® 5=

013 011®, ® 02 «XBY,BX.BY 0210
03® 031 (), (L), (=)

LECTURE [7~T8 | it G 46~47 =

01 AABC=AFDE 0-1(1)AE (2)¥FG (3) 2D

02(1)6em (2)80° 02-1(1)O (2)O (3) %
03 (1) AFED, SAS (2) AKJL, SSS (3) AQRP, ASA

03-1 =02} (m): SSS &he, () () SAS &%, @} (2): ASA T

N saodols ™ 48-49%
0126 0M11® 02®@

021 EF=9cm, 2F=45° 30 @ 03103

04 AC, CD. AD, SSS 041 ADCB, SSS &5

05 &o] 23% 051 ~ADCB, SAS 3%

063 061 &°] 24%

x’ Zcie] 022 ® 50-53%
01@® 02 @ 03®@ 04 @ 05 @

06 @ 07 @ 08 ® 03 @ 100 @

We Y3 3



O wezmgs
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1M1@ 12@.® 130.@ 140

16 PQ, PQ, RS

182—-0—0

15®

17 15¢cm, 19 cm, 20 cm

19 47

20 AB=DE, BC=EF, AC=DF 21 OB, BP, OP, S55

22 17cm
23 (1) AADF=ABED=ACFE (SAS &%) (2)60°
24 8 km, ASA §%
p SR ® 54z
oixiq 371 M1 370 o2 16 cm”  SH2 36 cm’
() 1oz
LECTURE 19~21 ) s ® 56-58%
MNeoy, @ 01110 (2)x (3)O0 4O
02(1)70° (2)120°  02-1(1)65° (2)100°
03(1)60° (2)110°
03-1(1)88° (2)55° (3)95° (4)45°
04(1)4 (2)6 (3)8 (4)9 041(1) ALY (2) A4
05(1)7 (2)35 05-1(1)27 (2)44
8. o 3A193 of517| ® 59-61%
01 22=66°, 2y=145"011145° 025
021 244 03® 031® M43
04178° 0545 05@ 06® 06-1 65°
07 @ 077® 08®@ 081®  0935°
09140° 1014 1017 ne® 111190
LECTURE 22273 | o ® 62-63=
01(1)1080° (2)1800°  01-1(1)540° (2)113°
02(1)360° (2)360° 02-185°
03 S | FEAY | Fdolzd | BaEs
Bt LHzte] 37| | 120° 135° 150° 160°
gt 2lzte] 37| [ 60° 45° 30° 20°

03-1108°, 360°, 5, A2215

03-2 40°, 9, AF2+3

Qe

8 2 Sjilga'% Q_la';l ....................................... (® 64-65=

01® 011 ® 02® 02-1360° 03 @
031360° 04©@ o4 ® 05
051 Aoy 06 @ 061 @

b ZCH o2 (™ 66-69=
0136 023 03 3@ 04 (3 05 @D

06 @ 07 @ 08 ® 09 @ 0@
1@ 12 (5 13 (%) 14 (@) 153
1695° 17 90° 18 85° 191 20 95°
21 540° 22 11 23 A4lzE

24 £x=36"°, £y=108°, £2="72"

Ry £ Wiel ® 70-71%
o5 110° |81 65° o2 (1)6 (2)9

|H2 7, 14 M3 1800° 83 =20, b=1080

oz 75° SH4 30°

011(1)AD (2)AB (3) 2BOD 01-2 (. (©

02(1)30, 4, 16 (2)90, 8, 60 02-1(1)160 (2)3
03(1)10 (2)120 03110 (2) x

TS siAl93 olsy| ® 74-75%

013 011 ® 02@ 02180° 033
03110cm 04 @ 0418cm 0503
0515:10:1 06 @ 061 4 cm

LECTURE 26..27 .............................................................. e 76-77 =

01(1)187cm  (2) 817 em®

01-1(1) 87 cm. 167 ecm’® (2) 127 em, 367 cm’



02(1)8rcm (2)d4rem (3) (12748) cm

02-1(1)36r em® (2)97r cm® (3) 277 em®

03(1)2rcm (2) 37 em”

03-1(1) 37 cm, %R cm’ (2)7rem, 21r cm”®

04 247 cm”®  04-1(1) 40r ecm® (2) 37 em”

WS siA038 olsp) R @ 78~79%

01 @ 011 ® 02 (67+8) cm, 67 cm”

021 277 cm® 03® 031(1)6cm (2)240°
04 107 cm, (507—100) cm” 041 (16—%5) cm’
05 (6x+12) cm, 18 cm® 05198 cm®

06 @ 06-1 (107+40) cm

3; F 5 ora (™ 80-83%
01 @ 02 @ 03 @ 04 ® 05 @

06 3 07 ® 08 @ 09 ® 10@
1@ 120 130 140 15Q)

16 (1) 150° (2) 357 cm’17 48 1B 90 cm® 19 24 cm

20 (47+18) cm 21 167 cm, (327—64) em’

22 (187—36) cm® 23 6rcm 24 80rm’

Ry HE3 e ® 8az

8H11:3 W2 (37410) cm, 227 cm®

oH1 3 cm 5

SH2 (87424) cm, 487 cm’

@ 1 Croixeh %

LECTURE 28~30 ™ 86-88=

lw, @ 011@ 02(1)5 A (2)7, AdA
02-1(1) &9 (2) SHA (3) THA (4) LA
03(1)O (2)x (3)O (4) x

03-1(1) AFzHET (2)6, 12, 8

04 (1), (@, @ (2)0) (3)C), 0, @ (4) )
041(1) O (2)x (3)C 4O

S AT

m G]PE!%‘%I q_!spl .................................... G 89-90%
01® 011 @, ® 0225 021 @ 03®
031® 04@ 041 Az 053
051 AAHA 06 © 0616 07 @
0713

LECTURE 31~33 ™ 91-83=

), 0, @ 0110
RS
02 9. o 02-1(1)O E, (2)
02-2(1) Y (2) 22y
03 (1) (2)
:1::cm
Pem
3cm

031 a=6, b=12, c=9 03-2 =9, 2, 47
m qlld_g,ﬁé O_}g';l .......................................... G 94-95%
1@ 011 @ 02@ 021 3@ 022 @
0320cm”® 03128cm 04®
041 a=9, b=15, c=18r 05® 051 @, @
3, 3 aRal ® 96-99=
01 @ 02 @ 03 @ 04 @ 05 @
06(3.@ 0706 08 3 09 @ 10@
1@ 123 133 14 @ 15@
16 23 17 324715, 27 18 363 19 6
20(1)A G (2)FE 21 BC 22 187 cm”
23 (1) ¢ (2)32cm 24 64n

2’ N4 o5t ® 100-101%
o] A e AlWA] o2 6 SH2 42
HM3 87 cm®  SM3 12cm® o4 12 SH4 6
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(V1) 2 Yri=ge] 2siolet al

LECTURE 34~35 ) o 102-103 =

01(1)a=3. b=10, c=4 (2)6cm’ (3)40cm’® (4)52cm’
01-1(1) 158 cm” (2) 288 cm”

02 (1)a=2, b=4x. ¢c=5 (2)4rcm’® (3)207rcm® (4) 287 cm’
02-1(1)547 cm® (2)1127 cm® 03 (1)30cm® (2) 210 em’
03-1(1)280em” (2)24cm® 04 (1) 257 em” (2) 2007 cm®

04-1(1)1607x cm® (2) 817 cm’

” 3#13_9_% q|3|7| ................................................ (® 104-105%
01® 01115cm 023 021 527 cm”
03® 03-1 1707 cm”, 3007 cm’ [\ Xy
041 907 cm® 05110cm’, 60cm’ 0513
063 061 4567 cm”

LECTURE 36~37 ® 106~107%

01(1)a=10, b=10, c=12 (2)100cm’ (3)240cm® (4) 340 cm”
01-1(1) 120 em® (2) 64 cm”

02(1)a=9. b=6r, c=3 (2)97cm’ (3)27xcm® (4) 367 cm”
02-1(1) 147r ecm® (2)60rem”® 03 (1)20cm® (2) 40 cm’
03-1(1)21em® (2)64cm® 04 (1) 497 cm® (2) 1477 cm’

04-1(1) 187 cm® (2) 1007 cm®

9% S#Ac;,g_% Ql3|7| ........................................... G 108-109=

1@ 01-1 307 cm® (1726)]

02-1 367 cm’ 033 0341 72 cm’

04 907 cm’, 847 cm® 0441 312 em” 053

051 52—5 cm’ 06 3247 cm’, 4327 em® 061 (D
LECTURE 38 ™ 110=

01100 cm® 011 147z cm’ 0236z cm’ 021 27 cm’

S sal08 olsis| ® 1=

011 ®@ 012®

03 1447 cm’, 4327 cm® 0313

021115

01 367 cm’, 277 cm’

E =g

3, 3 amay

M 112-115=

016 02 3 03 @ 04 @ 05 @

06 3@ 07 08 @ 09 @ 103
110 120 130 146 15@

16 264 cm® 17 56 cm® 18 1207 cm” 19 11

20 5447 cm’ 21 6% 22 9cm’

23 (1) 1177 cm® (2) 1627 cm® 24 36 cm’

Ry HEY P ® 116-117%

o1 (337 +48) cm®

o2 2 FH2 %

o4 8647 cm” |54 1407 cm”

{41 (287+20) cm”

o3 187 cm® £H3 1007 cm”

() 1 xt=e) =

LECTURE 39~A0) |t @ 120~1212
(7102 708)
01(1) =7 2l
6 |2 5 8
7 1026 6 9
8 1 4446689
9 |02 25

014(1)5 (2)2 (3)5 (4)44 (5)127

02(1) ™ xjzr(aizh =(g)
g0 ot W 3

6 ~ 9 Wy 7

9 ~12 )4 5

12 ~15 M 3

15 ~18 V4 2

Al 20

(2)5 (3)154]7F o]AF 18417} muk  (4) 1054]7F

02-1(1)2¢ (2)8%

TN apa23 o)

(3)6d o4 8@ vt (4) 11

........................... @ 122~123%=

01@ @ 011(1)9 (2)25%
02(1)6 (2)22 (3)150 cm ©]A4F 155 cm |9 (4) 107

(5)162.5 cm



0213 03(1)12% (2)11 (3)72%

032 A=3, B=12

031 60 %

® 124-125%

50 60 70 80 90 100 (F)

01-1(1)5mm (2)5 (3)28 (4)10 (5)232,5 mm
02 (1) ('i} (2)35 (3)20%] |4 308 wjqt

/

8
6
i
2
0

10 20 30 40 50 60 (2])

02-1(1)5A1kF (2)5 (3)30 (4)8%F (5) 27541k

bl AEL LI
01(1)10% (2)30 (3)30% (4)20 (5)300

(4)100 (5)360 02@
(3)40% (4)80

............................................... ® 126-127%

011(1)6 (2)362% (3)75dB
021(1)40 (2)10%3

03(1)36 (2)5 031(1)6d (2)25% 04®

041 ®

L 2 oga) ® 128-131=
01@ 02 @ 03 @ 043 05 @

06 @ 070, ® 08®@ 09 ® 100
11® 123 133 14 @ 15 B

16 20 17 120 ol 130& w2t

18 A=8, B=4,C=121930% 20237

21(1) &o] 52% (2)9 22749 2355kg 242

:, MEY Wl ® 132-133%
oM 1755 8M1 163 oiE2 130 SH2 45

om3 60 % FH3 20 % oimidg 14 44 11
=EHA AL

(VI) 2 xt=e) sy

[0y (1] TR T V. ) L — @ 134~135%
01(1)0.25 (2)24 01140
02(1) 712(em) [=4@) | Nu=s
180°% ~ 190" 3 0.15
190~ 200 6 0.3
200 ~ 210 7 0.35
210 ~ 220 4 0.2
A 20 1
(2) 200 cm ©)4F 210 cm v]qE
02-1(1) A=0.15, B=14, C=0.2, D=2, E=1 (2)0.25

03() BE@ &) [A@)|aues (@) FH=0

g0lg _ golnt 2 0.08

0.3

3 ~4 5 0.2

4 ~5 9 0.36 0

— ; o1 MY SEENE

6 ~7 3 0.12 ok

i - ! 2 3 4 5 6 T(EHE)

03-1(1)541 (2)5 (3)30A4] o4 354 v]glk (4) 147

WS ooy ol

01(1)40

011(1) A=02, B=0.35. C=1

029t 0241 63) o)A 93] wlet

03(1)25 (2)20= o]4} 25% n|7t (3)24 %

0341(1)160% (2)36 % 032 14 04 (), ), ©

041 (1) 907 o4+ 954 muk, 953 o4k 1007 =t (2) 200
(3) BE3ta

................................................ G 136-137%
(2) A=4, B=0.15, C=12, D=1 (3)0.3

(2)12 (3)25 %

- S ® 138-140%=
01@® 02®@ 03 @ 04 @ 05®

06 B 07 ® 08 ® 09 @ 100
113 12 @ 13015 1412 15 16

16 56 17 20, 36 18 Bl

Ry H43 Wspl ® 141=
old1 0,25 {1 157 oH2 6 #H2 13

We Y 3 7



02(H¥E (2dC (3)=A2 CF

03(1)7 (2)12 04 ()XY (2XY (3)YX 4)XY
05(1)= (2)+ (3)=06(1)BD (2)BC (3)CB (4)CD

07(1)8cm (2)16cm (3)12cm (4)13cm (5)5cm

08(1)6 (2)3 09(1)2 (2)2 (3)3 (4)

3|

018D 2)dF 3)=A=lCD (4)8 (512
E©) 126 130 14 15@
16 246, BHAA 12, 206 178 18®
19 (0, @, =) 200, 21® 225
2312cm 24 25cm
25(1) #AOB, 2COD (2) #BOC
(3) zAOC, 2BOD (4) 2AOD
26 (1), (m (2)0), ) (3)@ (4)06
27(1) 2DOC (2) zEOF (3) ~AOB
28 (1) 2x=60°, 2y=35" (2) 2x=50", Zy=40"
(3) 2zx=50°, 2y=130" (4) 2x=70°, 2y=50°
29(1) L (24 (3)H (4)CH
30(1)AD.BC (2)4C (3)6cm
1@ 323 3@ 34 75° 3[5®@
36 @ 37® 3835 393 40 20
41110 423 43®

€ usy

46 20 47 10

L ), W) 45 12cm

48 10cm 49 257 50 25°
5155

@ 2 91| 2

DAA MDD AHE 2B HC 3)AB HE WHE
02()® A HC (20dB.AD. HE
03(1)AB, AD, AE (2)d D, dH (3)8B HF AG dC
04 (1) 3 HollA vhdel (2)d B
05(1)¥ AB,®IDC (2)¥ AD (3)¥ BC, ¥ DC
06 (1) 3 HoflAl whdet, (2) 2221 $ixef glct,  (3) Ballajct,

O 11-19=

8

07 (1) AD, AE, BC, BF (2) AE, BF, CG
(3) AE, DH, AB, DC 08 OC, OD
09 (1) AD, BE, CF (2) AB, BC, CA (3)DE, EF, FD
(4) AD, BE, CF
10 (1) ¥ ABCD, 1 EFGH (2) ¥l ABCD, ¥ BFGC
(3) ¥ BFGC, ¥ EFGH (4) ® AEHD, ¥ BFGC
11 (1) ¥ ABED, ¥ BCFE, ¥ ACFD (2) % ABC
(3) ™ ABC, ¥ DEF, ¥ BCFE (4) AC
(5) ¥ BCFE, ¥ DEF

12® 13@ 14 H3sict, 15®
163 17@.® 18@ 196 20®
218 22(1)5em (2)15em (3)6em 23 3em
24 W ABED, ¥ BEFC 25®

26(1) ze (2)2f (3)2f (4) z¢ 27(1)93° (2)87°

28(1)105° (2)100° (3)75° (4)80°

29 (1) 22=70", £y=110" (2) 2x=125", Ly=55"
(3) zx=60°, 2£y=80°

30 (), (@), () 3M1®@ 32 35° 33 65

(4) zx=45°, zy=120°

34 80° 35 70° 6@
38@ 393 403 4130 42 (3
43@ 44 @

€ ey

46 5 47 AB, BC, BF 48 W CGHD

37 £x=120", Zy=80"

LS min, piq

49 185" 50 140°  5185°

@ 20-29%

(V) 3 ==et s

01()&= 2)wd A (3) "2

02 (LW — @ — 03 Y, CD, CD, 2XPY
04 A, Q, BC, BC, PR 05® 060 @
07 (9, (©, @ 08 ® 09 ® 0@

11(1)BC (2)AC (3)2A (4) 2B12(1)10cm (2)100°
13(1)0 (2)x (3)O ) x (B)x (6)O (7O (8)C
14(1)O (2)x (3)C 4O

15(1)0 (2)x (3)O (4O (5)x (6)x

163 170, @ 18 AHX, ¢, b 19®

20@ 21®@ 22 (0, (=), (=



23 ZADE, ZAED, ZA
24(1)AD (2)HDE (3) «C 25(1)4cm (2)48°
26(1)8cm (2)125° 27(1)O (2)x (3]0 )OO (5) %

28 0k (=) SAS 5, (Wt () SSS §Hs, @ () ASA 5

293 3013,6 331G 32 (), (), (), )
330 L3 35 888 #F

36 PC, CD, SSS 37 Eo] 64%

38 £0] 64% 39 @ 40 AACD, SAS #H5

41 AABC=ADBE (ASA $%) 42 #°] 64%
43(1) zECA (2) AABD=ACAE (ASA %)

£ ues

LL(1)O—-B—-0—-0—-@—0 (2)«CPD

45 3 46(1)1 (2)2 47 108 48 7Tcm
49 (1) ASA 35 (2)90°
® 1R @ 30-42%

01 ¢, (), @ 02(1)75° (2)140°
03(1)80° (2)95°
05(1)72° (2)50° (3)70° (4)65° 06(1)2 (2)5

07 (1) &zd (2)+Z=08(1)5 (2)77

109, 18, 3, 6, %73
1101249 2) 4449 12100° 13 181°
140.@ 150.0 1644274% 17@
18Q 19® 20124° 21 @ 22 48°
230 24 ® 25148° 26 @ 27®
283 29 28° 0@ N@® 32 40°
3325° 3@ 350@ 36180° 37@
38 @ 3950°  40Q@ IANE) 4203
4310 443 45®

04 (1)105° (2)75° (3)35° (4)40°

09(1)14 (2)54

46 5t BRIE 0l A
thztdg 0] BEoiXl= | w=ztel 37|19 &
Azteio| T4~
Azta 2 180° X 2=360°
27k 3 180° x 3=>540"
E=d 4 180° % 4=720"°
2213 5 180° x 5=900°
nZfd n—2 180° % (n—2)
2 EHA AL

47(1)85° (2)115° 48 1260°, 7, 9, 7214
49 (1) ez (2) At
51(1)110° (2)72°

501(1)360° (2)360°

52 (1) 108°, 72° (2)144°, 36 (3)156°, 24° (4)165°, 15°
53(1) A48 (2) ddelad (3)deldad (4) 3Z4d
54 @ 55@ 56 @ 57® 58 95°
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